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Warm Up Grade 8

tkn = 1000m Sl
1hr = 60min = 3600 seconds
\__/

1. A human walks at an average speed of 5 km/h.
What is this speed in meters per second?

Skhm 2088 5000m ) |3%m
| hour —> 3600 Sec
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11a) Giorgos $ 315 for 35h
+35 +35
$9.00 / hour

+ 11a) Petra $ 370 for 40h
+40 +40
$9.25 / hour

Petra gets paid more
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Comparing Rates

You can compare rates the same way that you compare ratios;

- Find the unit rate

- or find equivalent rates which have 1 of the terms the same.

Example:
Which is a better deal?
A - 2 apples for $0.68 or B- 8 apples for $2.60
&
2.00 / Racple
=3

- find the unit rate

8 O‘b%/.Qapp\s
<=2

. v-; ) ; 0.225/ |aeele
&
el

or Cheape,

- change both to the cost for 8 apples
A - 8 apples (0.68 x 4)
= $2.72 for 8 apples
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